Basic Level Examination-2078
AT A& JAET-R095
Kathmandu Metreopolitan City
faez : it
(Subject: Mathematics)

Time : 2 hrs 15 min Full marks: 100
Class : 8 Pass Marks : 35
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Attempt all the questions

THE ‘@ (Group 'A' (10x1=10)

Jfq aefa Iav ATST T |
Very short answer questions.
1. %) fagus femere x &1 A oeterd |

In the given figure, Write the value of x.
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&) AT r cm ST gerehl ARl frrepTeerd |

Find the circumference of a circle with radius r cm.

2. @) fa=ee A (ab) T B (c.d) Frerepl g8 T ATS AR |
Find the distance between two points A(a,b) and B(c,d).



E)WWNEENWWaml
Write the bearing angle of NE in the given figure.
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F) fazuar dmfeen gl e IRTATS GHE  FhHl
Jeerd |
Write the set notation to represent the shaded region
in the given venn-diagram.
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@) ggen 0.005062 S Sy HaAT dEEd |
Write 0.005062 in scientific notation.

&) feeusr qeargdhel & adl CRIEREER
Find the range of the given data.
$.9.711,18, 13

@) wafeso Terd | (Factorize):
x? — 16y?

®) m &1 STATEE F ga A A 1 TV
What should be the power of m so that its value will
be equal to 17

@) &« e | (Solve):
Sx'=21



F) fagger FEAEC Pai‘rm“rrqﬁawm‘q,?rﬂ1

Find the Value of P in the given figure.
A 25 B

@) WWWWW!

-

Find out the interior angle of a regular octagon.

) faguel O AMNO~APOQ T X 1 HIF 7T IR, |
" 1In the given figure, AMNO~APOQ then find the value of X.

Q
M 32cm/ A/
3 / 16 cm
X cm // [?
N —_7 24cm o

) A qerE AEE AABC 7 AXYZ o8 !
TF WSl Al o ATg 9 et |
By which axiom AABC and AXYZ show in the figure
are congruent? Also, write a pair of corresponding

angles. A /A;
A '
B H : ¥ i :

E)HW?mWWWWWt

Find the area of circular pond having radius 7m.

n)ﬁ@mﬁmﬁwﬁrm@m

Draw a net of triangular prism. .




8.

mlﬁgqﬁWmﬁAAchAcﬁmeﬁm
Find the measurement of side AC from the given right-
angled triangle AABC.
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g) U TP &% 64em’ WU AT avtiapr aRfafa aer

1 \ l
If the area of a square is 64cm? find the perimeter of
the square.

M A U= {g, 0, a, t}, A={g, o, a}, B={g, o} T (AUB)
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- g)
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qr F'I‘IIGH__'?IHJ ?
U={g, 0,a,t}, A={g, o, a}, B={g, o}then find (AUB).

HA qg@N 625 % USH AW GgEAT  GgfaHn
ST el |

Convert 625 to quinary number system.

fegUer qeATgFaTe Ricgs @ AR |
27, 29, 187 S50 21 28 _
Find the median form the given data.
27, 29, 18, 25, 38531, 26

TS faarergar 1200 faamdies wed 24% #éEs v a9
FeTEohl AT qAT AT AEH |

Out of 1200 students in a school, 24% were girls;
How many boys were there?



10.

11,

12

13.

%) @UsIE a4 (Factorize):
xt—x-12 |

@) 9vd T e (Simplify):

(x2m+n % xn—m) e xm+2n

) H?dx=5,y=3,m*—-2andn::3ﬂq
XM x yM~N Fr JA 9T AMS A, |
xm—nxym-i-n

Ifx =5,y = 3,m = 2 and n = 3, find the value of

xm—'n X ym+n

%) GSUR! AAHAATATS &l T AT T@MHT I&d Tl |

Solve the given inequality and show it in the number line.
x4 3283

@) &d e (Solve)
x—2 &

s

x4 2 3

He ‘T Grop 'C' 14x4=56

AATd PQRS 1 T=AT TR, ol ddw {o Tem 7 faw0l
gcm T |

Construct a rectangle PQRS in which base side is 7cm
and a diagonal is 8cm.

fraereer Pt Fveesr amwe 180° g 9l TANTCHS
qf¥&1oT THE | (Fh-HYeh ATIH 53 drer (oA Atard g )
Verify experimentally that the sum of interior angles of a
triangle is 180° (Two figures of different measure are
compulsory) ;



14.

19

16.

17.

frew ABC &1 Rrifages A(4,2) B(3,5) 7 C(6,5) & | S
Pre(eTeTs draferaaT e T Y-S6TAT Sraae el | A
T gfataEeTs Bt ar gasdr Rrifaeed Havmgwee q9
weTerd |

The veritices of AABC are A(4,2) B(3,5) and C(6,5). Plot
the triangle in a graph and reflect it on Y-axis. Also shaded
the image so obtained and write down the co-ordinates of
its vertices.

100 st PremdieeaT TZer WHEAT 60 ST T T 50 ST
RS W T9TT | Afg 10 ST % 9f fqed A 9eEe, "
d-Perer W gy fawg WA wed Prardieed age

- g®T Ae ey |

In a group of 100 students 60 liked mathematics and 50
liked science. If 10 students did not like any of the
subject, by using venn-diagram, find the number of
students who like both the subjects.

Find the area of shaded region in the given figure.
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E 14 cm

At qea & 15000 wfaqsr AT 10% & T 13% JeA
afmafy @¢ WSS A AHEH A FA g ! T
TSR |

What is the price of a good after 10% discount and
levying 13% value added Tax (VAT) in an article written
marked price is Rs. 15000? Find it.
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20.

21.

22

23,

24.

2,

uﬁﬁmnﬁzowqﬁmmﬁﬂmwﬁwm
32 fT A A FTHAN A6 | _

If 20 workers can complete a piece of work in 24 days.
How many workers aré needed to complete the work in

32 days?

e oy & 4,000 F1 2 EA0 [AEET 6,000 &3
qT TSI, |
In what rate of intrest Rs. 4,000 amounts to Rs. 6.000 in 2
yrears? Find it.

ave e (Simplify):
12v74 — 3v216 — 5V54 + V600

ae feguar qHERae FEFIg HeAD Tl CUIEGHER
Find the arithmetic mean of the following data.
‘e Marks obtained |5 | 10 15120 {25 |30

i) No. of students 6 '3 e =T 4 5

e e (Simplify):

o a2 ab+b° fyb b2+ bc+c? e ¢? +ca+a’
) () *(%)

qq frereed | (Find the HC.E.):
2x + 18, x> —8land x2 + 6x — 27

g7er e | (Simplify):
2 1 3
LRI oy e oy 1

srgifaaare za e (Solve graphically):
x+y=9andx—y=1

Thank You



